Year 6 Worksheet 7 - Exponents

Question 1: Evaluate the following.

2° 3° 2’
=2 %2
— 4
24 52 72
10° 4> 3*
0° 1° 6°
9° g° 11°
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Question 2: Evaluate the following.

2—3 20 3—1
_ 11
=L =1
10°° 5 * 1’
2~ 17° 100°
37° 17 9 *
3—3 4—3 7—2
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Question 3: Evaluate the following.

3%+ 2° 5% — 4° 2° x 2!
=9 +8
=17

6" x 7° 9" + 10" 2>
(-4’ x6 3t . 3 (- 5)°

3° + 4° g’ + g 70— 2
(— 6) x 8’ @) 9° + 9
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Question 4: Solve for x.

1

2 +x =17
- 52" =x
3 |[4x| = 12
4 B
)
o 3¥ 2 =7
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6 —6x+(—2) =10
7 27 = 1

8 3+ x =2

9 5x° — 25 = 100
10

14x°| = 36
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Answer Key
Question 1: Evaluate the following.
2" =4 3°=9 2’=8
2" =16 5% = 25 7% = 49
10° = 1000 4’ =64 3" = 81
0°=0 1° =1 6" = 36
9° = 81 8° = 64 11° = 121
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Question 2: Evaluate the following.

27 =1/8 2" = 1 37 =1/3
10> = 1/1000 57 =1/25 1° = 1
27" =1/16 1% =1 100" = 1
37 =1/9 17 =1 97% = 1/81
37° = 1/27 47° = 1/64 7% = 1/49
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Question 3: Evaluate the following.

3% +2°=17 5 — 4% = 609 2° x2'=16

6" x 7° = 49 9' +10° =10 2 =64
(— 4" x 6°= 36 3"+ 3%=9 (— 5)°=25

3° +4°=43 8’ - 8" =64 70 — 2 =47
(- 6) x8=64 | 2% =1/p4 9° + 9'=81
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Question 4: Solve for x.

—_—

Answer:

x=17-8=9

Answer:

x= 39/8

Answer:

x=+/-3

Answer:

x=8

Answer:

x=1

Answer:

xX=-2

Answer:

Answer:

O |0 ([ N|]oojJo ||V IN

Answer:

-
o

Answer:
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